[= = M E‘ /\
TS ERRER (401)
TH4 7L BEEEAREINRR - T OEREBITE (1) G5FH FER Sy TH TR -
? EHY) THERXS TERW R
TFX gy « TRE - FER - FmB1 FS <X{va e (FimE) & (4mE) Fe B e R
TERW R
= 1
BT
= 1
PEH T
= 1
EEll B D, it 5 ERR LA U
), it T /N AR (R )
m3 180
- m A e
(A3 h 3R )
m3 160
FEIA (b=27) 8w, VEFENE : £ 550, 000m3
A
m3 160
AR T
= 1
D E BB CE- ERRY L&)
m3 160
Ve Y UTA)
m3 160
e
= 1
7/h-T
= 1
— 1 — %l:m%/a\




T

<

SR

N

A)

ffz¢ (K01)

TH4 | R 7L BHAEHRmNGR - T EBgETHE (1) GETH FER Sy TH TR -
FaER) TR X5y TERW R
TFX gy « TRE - FER - FmB1 FS BT & (4mE) B T

e - UikE
Y 1
TN LA (T/0-) TN T AR 3A
Y 1
HIFL (Tvh-) BIIFLE: - 47m, HTEE : 90mm, FF: : Om, T
AR (A E) :Om
m 47
TGN T §ELT - $F A - BRAE - 2 TUh-EA B 3R
i 3
77 IMEA FEAMBEE A b= |, EfiE
FRE 1 24N/mm2, W/C=50%
m3 0.3
R VYA - 2
=] 1
23 (i)
Z8m3 65

PERE T

=V 1

EELT
= 1

L T
m3 20

AT HERE T

7 ¥ — L AR
=V 1
-2 - TE IR




T

ez (A01)

<

TH4 | R7MHEL BEHEINTNG = T ERKRTHE (1) GFH FEXS T BT - LB
FRER) THXS O R
THXSy - THE - R - ) Bk HNL Gl R (4[E) KR S
BLavy)-h v )= Mgk 1 18-8-25 (7 47) , BUE 110
. m2 7
)= e OTIAR : WATH - L AUHERE, HERE D
W & 3. 3m, 27 ) - MK 1 24-12-2
5(20) (i), #e:4 — ek m3 31
R SRAAABFELS - £2:SD345 D13
t 1
0k B R — TR
m2 68
2% Tty b L
#tm2 50
H Hitk H bR D FEAR TR ARMEE H Hibk =2
" m2 3
KN AT ER BRI VP65, T Y
m 11
ST H 8% 13%50%120
m 12
Pk & L
= 1
BIRT
= 1
i) -ME BRI ©250
m 1
P 1




T

ez (A01)

<

TH4 | R7HLS BWEINTAR - T ERGRTE (1) GBFA HEX T BT - LB
fRER) THEXy HEKGR
THXSy - THE - R - ) Biks HLAZ Gl e (4E) KR e

Gan
= 1
AR BT
= 1
AR A
NG| 45
PR AERE
= 1
Bt
= 1
AR B A
= 1
B =h-w BT =b VB (BRI - Co ) - & i
Gr—C—2B, Jiti AL : 21mL | 100mAS
i, AR A E A m 12
B LHEE
= 1
IR
= 1
B
= 1
Bt ey
= 1
4 1




Ry

=,
Hj

o2

rath e (AR01)

TH4 TR AN - T OEKBERTEHE (1) GEFH HEX TE TR - SR
? ET) THEXy PR AERE
THX 5y - AR - R - A0 Biks HLAZ Gl e (4E) KRB e

EREE Tav
= 1
Limfa (FGk L)
= 1
WITEHE
= 1
Bl E P
= 1
Tl
= 1
— R PR
= 1
Tt
= 1
TR K Ol 5 1 B A
= 1
TG
= 1

=N

N
Zim




